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(1) ¥ 22 & % X2 EOCR ON, LST ON, LS2 OFF, LS3 ON, LS4 OFF
(2) PB1S S22 AIAEO0l AIZZM, MOl & 3&50 ME0 =22 0= (LSt
OFF) SHCH.
(PB1 ON => K1 ON, MC1 ON, PL1 ON => LS1 OFF)
(3) MZE0 =22 0/S5t0d LS2 |AXI0 SE(LS2 ON)GHH M1 A XIotD, Mot &
3| Mol MEZS 6t (LS3 OFF)SHCt.
(LS2 ON => K1 OFF, MC1 OFF, PL1 OFF, K2 ON, MC3 ON, PL3 ON => LS3 OFF)
(4) MZB0| StZ5H0 LS4 QX0 SE(LS4 ON)GHSH, M= HXIEHC.
(LS4 ON = K2 OFF, MC3 OFF, PL3 OFF, K3 ON, T ON)
(5) T EFAIZt tX =, M2JF & XG0 MB0l CHAl &A= (LS4 OFF)8HCH
(T9l t= = > K3 OFF, T OFF, K4 ON, MC4 ON, PL4 ON => LS4 OFF)
(6) MZB0l AFSGH LS3 QX0 EE(LS3 ON)GHH M2= A XIS, M10I & 3l &5HN
MBS X=22 0/S(LS2 OFF)8HCE.
(LS3 ON => K4 OFF, MC4 OFF, PL4 OFF, K5 ON, MC2 ON, PL2 ON => LS2 OFF)
(7) MEO0 H=22 0/S6t0 LS1 X0 SE(LST ON)otH M12 HXstl, 2
AAEIS XD|GHEIC},
(LS1 ON = K5 OFF, MC2 OFF, PL2 OFF)
(8) M1 &= M2JF S= = 1IH26I2 EOCROl S&LH, 2 SX0| MDD, BZ2Y
PLOJ} ON =IC},
(EOCR TRIP = ALL(MC1~MC4, K1~K5, T, PL1~PL4) OFF, BZ ON, PLO ON)
(9) EOCRS RESET &t™ BZ2t PLO= OFF =ICH.
(EOCR RESET => BZ OFF, PLO OFF)
(10) AIAE SX(EOCR SZ HQl) = PBOSE F2H 2 s&2 X .
(PBO ON = ALL(MC1~MC4, K1~K5, T, PL1~PL4) OFF)
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